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3. The lengths of three sides of a triangle are 20 cm, 16 

cm and 12 cm. Then find the area of the triangle.  

4. If each of the equal sides of an isosceles triangle 

measures 2 cm more than its height and the base of 

the triangle measures 12 cm, then find the area of the 

triangle.  

5. In figure, OA and OB are the opposite rays: 
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  (i) If y = 110º, what is the value of x ? 

  (ii) If x = 75º, what is the value of y ?   
 

6. In figure, PT QR and PS bisects QPR.  

  If Q = 65º and R = 33º, find TPS. 
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7. In the given figure, AB is a mirror, PQ is the incident 

ray and QR, the reflected ray. If PQR = 112°, find 

PQA.    
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8. What value of x will make CD || EF,  

 if AB || CD?    
 A B 

F E

D C 

30º x 

65º

 
9. Find the value of x in the given figure. 

 

 30º 

x 

 
10. Find the measure of an angle, if six times its 

complement is 12° less than twice its 
supplement.   

 


